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QUESTION 1

For each of the following statements, select Yes if the statement is true. Otherwise, select No. Each correct selection is
worth one point. 

Hot Area: 

Hot Area: 

Correct Answer: 
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QUESTION 2

This question requires that you evaluate the underlined text to determine if it is correct. 

A table whose attributes depend only on the primary key must be at least second normal form. 

Select the correct answer if the underlined text does not make the statement correct. Select "No change is needed\\'\\' if
the underlined text makes the statement correct. 

A. No change is needed 

B. first 

C. third 

D. fourth 

Correct Answer: A 

 

QUESTION 3

What are two advantages of normalization in a database? (Choose two) 

A. prevents data inconsistencies 

B. reduces schema limitations 

C. minimizes impact of data corruption 

D. decreases space used on disk 

Correct Answer: AB 
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QUESTION 4

What are two methods that can be used to evaluate the condition of a loop at the start of each iteration? (Each correct
answer presents a complete solution. Choose two. ) 

A. If 

B. Do. . . While 

C. For 

D. While 

Correct Answer: CD 

For and While constructs check at the start of each iteration. 

 

QUESTION 5

Which service can host an ASP.NET application? 

A. Remote Desktop Services 

B. Internet Information Services 

C. web Services 

D. Cluster Services 

Correct Answer: B 
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